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Part II 3-Tier
AUDITING AND ELEMENTS OF COSTING
PAPER—XII
(Elective General)
Full Marks : 100
Time : 3 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Miustrate the answers wherever necessary.

Group—A
[Auditing |
{Marks—45)

1. Answer any two questions : : 3x2

(a) Write down difference among Book-Keeping,

Accountancy and Audit.

(Turn Ovér)



(b) What is test checking?

(c) What is meant by fraud in accounting ? State two

types of fraud that take place in accounts.

(d) State two differences between valuation and verifi-

cation.

2. Answer any three questions : 8x3

(a) What steps should be taken by an auditor before

commencement of new Audit ?

(b) Write down basic differences : among special Audit,
Periodical Audit, Complete Audit & Partial Audit.
‘ 2x4

(c) What are the preparatory steps before commencement

of new audit? 8

(d) What are the limitations of Internal Control Systems ?
8

(e} Discuss the uses and limitations of Social Audit?
8

[y
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() Distinguish between internal control and internal

checking,. 8

3. Answer any one : 15%1

(a) (i What are the pre-requisites of Cash: Book

Vouching ?

(i) Write down points of references of Cash Book
Vouching and Internal Checking System.
5+(5+5)

(b) (i) Distinguish between Continuous Audit and

Internal Audit.

{ij As an Auditor how would you verify Gdodwill ?
9+6
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Group—B
[Elements of Costing]
(Marks—45)

4, Answer any two questions : 3Ix2

(a) What do you mean by Costing ? What are its
elements ? 1+2

(b) How do you classify overhead ? 3

(c) What do you mean by chargeable expenses ? Give
two examples. 3

{d) Mention three differences between Job Costing and

Contract Costing, 3
5. Answer any three questions : 8x3
(a) Write down various techniques of costing. g

(b) A manufacturer has shown an amount of Rs. 16,190
in his books as “Establishment” which really
includes the following expenses :

Agent’s commission Rs. 5,750, Warehouse wages
Rs. 1,800, Warehouse repairs Rs. 510, Lighting of
office Rs. 70, Office Salaries Rs. 1,130, Director’s
remuneration Rs. 1,400, Travelling Expenses
Rs. 760. Rent, rates and insurance of warehouse
Rs. 310. Rents, rates and insurance of office
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Rs. 230. Lighting of warehouse Rs. 270. Printing &
Stationery Rs. 1,500, Trade magazine Rs. 70,
Donations Rs. 150, Bank Charges Rs. 100, Discount
allowed Rs. 1,970, Bad debts Rs. 170.

From he above information, prepare a statement

showing in separate totals :

(a) Selling expenses.

(b) Distribution expenses;

{c) Administration expenses, and .

(d) Expenses which you would exclude from total
cost. . 2x4

“{c) What do you mean by idle time? Disfinguish
between idle time and overtime. What are the causes
of overtime ? ©2+3+3

(d) From the following data, calculate the total monthly
remuneration of each of the three workers, P Q and
R :
(i) Standard production per month per worker
2000 units; '
(ii) Actual production during the particular month
P 1,700 units, Q 1,440 units and R 1,820
units; |
(iii) Piece work rate per unit of actual production
10 rupees;

(ivi Dearness wages Rs. 200 per month (fixed);
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(v} House Rent allowance Rs. 100 per month
{fixed);

{vi} Tiffin allowance Rs. 100 per month (fixed);

{vii) Additional production bonus at the rate of

Rs. § for each percentage of actual production
exceeding 80 per cent of the standard.
8

(e) (i) What is Semi-variable Cost ? Give two examples
of this Cost. ‘

(i) Distinguish between allocation and apportion-
ment of overheads. 4+4

() Two Components X and Y are used as follows :

Normal usage 60 per week each
Minimum usage 30 per week each
Maximum usage 90 per week each

Re-ordering quantity - X—500, Y—800
Re-crder period : X — 3 to 5 weeks
Y — 2 to 4 weeks

Calculate the each component :
(i Re-ordering level; "
(ii} Minimum level, and

{ii) Maximum level. 2+3+3
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6. Answer any one question : 15x1

-~ a) From the following information calculate the
overheads allocable to Production Department
P&OQ:
There are also two service departments X and Y.
X renders service worth Rs. 6,000 to Y and the
balance to Pand Qas 2 : 1. Y renders 'service to

Pand Qas 3 : 2:

P Q X Y
Floor area (sq. ft.) 5000 4000 1000 - 1000

Assets (Rs. in lakh) 10 5 3 | 1
. H. P. of machines 500 250 200 = 50
No. of workers | 100 50 50 . 25
Light points ‘ 50 30 20 20
Expenses and charges : Rs.
Depreciation ' 95,000
Rent, Rates and Taxes 18,000
Insurance I 7,600
Canteen expenses S | 5,400
Power © 10,000
Electricity T 2,400
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(b) Prepare Contract Account showing therein the
amount of profit or loss to be transferred to Profit o

and Loss Account for the year ended 31.12.2014.

Rs.

Material sent to site 1,90,000

Wages paid 7 , 1,20,000

Wages outstanding . | 5,500

Direct Expenses 60,000

Establishment Charges 52,000
Cost of work not certified 25,000

Material at site on 3‘1.12.14 21,000 B
Total Contract Price 12,00,000
Cash received 5,94,000

Retention — 10% of work certified — Plant Costing
to Rs. 1,20,000 was used for the whole year,
depreciation on that is to be provided at 10% p.a.

15

[Internal Assessment — 10 marks ] g
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(i)

(vi)

(vii)

Standard production per month per worker
2000 units; ’

Actual production during the particular month
P 1,700 units, Q 1,440 units R 1,920 units;

Piece work rate per unit of actual production

10 Rupees;
Dearness wages Rs. 200 per month ;(ﬁxed);

House Rent allowance Rs. 100 per month
(fixed);
Tiffin allowance Rs. 100 per month (fixed);

Additional production bonus at the rate of Rs.
5 for each percentage of actual production
exceeding 80 per cent of the standard.

b
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P Q X . B
Floor area (sq. ft.) 5000 4000 1000 - 1000
Assets (Rs. in lakh) 10 5 3 1
H. P. of machinés 500 250 200 | 50
No. of workers 100 50 50 25
Light points 50 30 20 | 20
Expenses and charges : I‘ Rs.
Depreciation 95,000
Rent, Rates and Taxes 18,000
Insurance 7,600
Canteen expenses - 3,400
Power 10,000
Electricity | 2,400

20
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(sf) 31.12.2014 9l ard (¥ g% ¢ %04, Ot9 Profit and

Loss Account-d & e airs a1 =fe Farsiae TS =
(2 (Ab! (ARTH Contract Account TS F9 32
Rs.
Material sent to site 1,90,000
Wages paid 1,20,000
Wages outstanding 5,500
Direct Expenses 7 | 60,000
Establishment Charges 52,000
Cost of work not certified 25,000
Material at site on 31.12.14 21,000 -
Total Contract Price 12,060,000 ’
Cash received 5,94,000
Retention — 10% of work certified — Plant Costing
to Rs. 1,20,000 was used for the whole year,
depreciation on that is to be provided at 10% p.a.
P
[ e FeEa — S0 THA]
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